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1 100kN/m%#%%| 1.00]000 ~ 127 11915 |3mZEEBZE| — ~ — — —| 100kN/m#%#8%% | 1.00]11.08 ~ 15.14 119.15 [3mZi#BZ 5 -~ - — —
Thilst 1.00] 127 ~ 9.05 100.00 | #xuist | 000 ~ 9.05] 257 13.73 ZhLlst 1.00| 500 ~ 11.08 100.00 | #hlist | 5.00 ~ 15.14 | 2.57 13.73
2 100kN/mM%#B 2% 1.00] 000 ~ 1.11 116.76 |3m%x{BZ 5% _-~ — — —| 100kN/m%#Bx%| 1.00|11.89 ~ 1567 116.76 |3m%*x{BZ % -~ — — —
Zh st 1.00]1.11 ~ 890 100.00 | Z1List | 000 ~ 8.90] 2.68 14.33 K10 1.00 | 5.00 ~ 11.89 100.00 | ZhList | 500 ~ 1567 | 2.68 14.33
3 100kN/mM#%#8Z % — -~ = —|3mZEBzE| — ~ - — —| 100kN/mZ#8 x5 — -~ — —|3m%Ei#BZ2% -~ — — —
Thilst 1.00] 000 ~ 561 7009 | #hiist | 000 ~ 561 | 2.93 15.68 ZhLlst 1.00| 500 ~ 11.78 7009 | Zhilst | 500 ~ 11.78 | 2.93 15.68
4 100kN/mM##B % % — -~ — —|3mZE#BAD -~ - - —| 100kN/mM%#BZ % — -~ — —|3m#FBZD -~ — — —
Zh st 1.00 ] 000 ~ 585 73.15 | Fnlist | 000 ~ 585 | 2.89 15.45 Zh st 1.00 | 500 ~ 11.83 73.15 | Fnllst | 5,00 ~ 11.83 | 2.89 15.45
5 100kN/m##BZ % — -~ = —|3mxEzB| — ~ - — —| 100kN/MZE#BZ 2 — - ~ - —|3m%EEZS -~ — — —
ZHn Lot 1.00 ] 000 ~ 6.68 84.39 | #xLLl4t | 000 ~ 6.68 | 2.59 13.84 s 1.00 | 5.00 ~ 10.20 84.39 | Znlist | 5.00 ~ 10.20 | 2.59 13.84
6 100kN/mM##B % % - —_ ~ — —|3m%#Ex%| 000 ~ 0.10] 3.18 17.04 | 100kN/mM#%#BZ 5 — — ~ — —|3m%#Ezx5%| 500 ~ 500 3.18 17.04
Zh st 1.00] 000 ~ 1.13 1207 | #hist | 010 ~ 1.13| 3.00 16.05 Zh st 1.00 | 500 ~ 5.00 1207 | #hlst | 500 ~ 5.00 | 3.00 16.05
100kN/mM##BZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEEZD ~
ZThilst ~ Zh st ~ Zh Lot ~ ZThst ~
100kN/m%E#BZ % ~ ImEBZD ~ 100kN/mM%Z#8Z % ~ ImEEZD ~
Zh st ~ Zhn s ~ Zh st ~ Zh st ~
100kN/mM##BZ % ~ ImEHEZD ~ 100kN/m%#EZ % ~ ImEEZD ~
Zhlst ~ Zh st ~ Zh Lot ~ Zhst ~
100kN/m%#BZ % ~ ImEBZD ~ 100kN/m%Z#8Z % ~ ImEEZD ~
Thilst ~ Zh st ~ Thilst ~ ZThLst ~
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
Zhlst ~ Zh st ~ Zh Lot ~ Zhst ~
100kN/mM%E#BZ % ~ ImEBZD ~ 100kN/m%Z#8Z % ~ ImEEZD ~
Thilst ~ Zh st ~ Thilst ~ ZThLst ~
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
Zhlst ~ Zh st ~ Zh Lot ~ Zhst ~
100kN/mM%E#BZ % ~ ImEBZD ~ 100kN/m%Z#8Z % ~ ImEEZD ~
Thilst ~ ZhLst ~ Thilst ~ Thist ~
100kN/mM%#EZ % ~ IMEHEZD ~ 100kN/mM%#BZ % ~ ImEEZD ~
Zh s ~ Zh s ~ Zhn Lot ~ Zh LS ~
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